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@® 4x+2x=3x+5x @ 5x-3=x(x—4)
@ 2x+4-3(x-1)+4x @ 2x+3=2x(7T-4)

® 3(x-3)=2(x-2)
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@ 3-x=-x+3

D 3x-—x=x

@ 3(x-1)=0

3x+3

@ 3(x+1)

B) 2x + 3x = 5x



B 5x+4=6x-5
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4711000 LolA a% EQ1H 7H4

@ (1000 -a) ¥ @ (1000 - 5a) &
® (1000 - 10a) ¥ @ (1000 - 100a) ¥

B —a 9



5. OF 3 3540 A2
® 2x=10 @ 3(1-2x)=-x-5
@ 12-7x="T7x+12 @ 1+x-2x=x

® 4(2-3x)=-12x+8



6. The 54 F x—2 %l o] Hi AL
@ 2x-10=6 @ 2x+10=14 @ 2x-18=x

@ 92x—3 =6 G 2x—=3 =9



@D a-1=b+1°Ha-2=0b

@ 2a-4=2b°|Ha=b+2

® ac=bcolHa=>b



8. The 540l 4Ysk] Sste] b, Lol Fere 4L

Q a:b‘”]@a+2:m
© a=b°]@2a—1zm

© @h2b,(h2b-1 @ Gh2+b, Lh2b
® Oh2b, Lh2b+1 @ Phb+2,Lh2p-1

® hb+2,Lh2n+1
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oFg¥ 2] |7t acm, ] 017} bem, 017 hem 2 Aekel %
a, b, h S AT Ao Lk Ueh 2 Setel

—A=E =2

cm @) cm? ® (a+ b)hcm?
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AR AANA 3000 AR T50le] AL % SHEY B
AP7E B ok Elo] 742S Tl 1000 9 U3, T2ia A
Y5 o4 1 7149 b% & thA SE Y Qe 71 Aol
= 9let

D (2000 + a) x (1 + i) = 4000

100
g )
- 1-— ) = 2000
@ (2000 30a)><< 00
a b
2 — (1 —) = 4000
® (2000 + 100) U 100

@ (2000 + 40a) x (100 + b) = 2000
© (

b
2000 -+ 30 (1 —) — 3000
+30a) x (1+ -2
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2x=—152+6
B7 172=6
— ‘s 0]

T=7F
@D a=bolHa+c=b+c 17

w|bo

©a=bolHa-c=b-c
© a=bo°"H ac = bc

@ a=>holH

® ¢h-© (h-©, (-0
@ Fh-© -, (h-9
®"hH-9,H-6, (-6
@ (h-Q, () -©, (th-©
® (7H-©, (}H) -0, (hH) - @
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@D b5x=10->x=2

@ 2(x-1)=4—-2x=6

® -3x=-5x-18 - 2x =18
@ 2x-5=0—-2x=5

B Adx=T7T4+3x—>x=17
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x=x+3 —>§x:3 - x=2

5
—2=x+1 - =
X X 9
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@ a=bolHatc=b+c
@ a=bolHa-c

b

B a=bolHag+c=b-c



15. 3a+b+7=-a-Th-13 L 0, a + 2b 2] 227

D -1 o -2 B3 -3 @ -4 »B -5



